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Percentages

(A" What is 20% of 400?

‘ There are 18 girls in a class of 30.
What percentage are boys?

‘ Write % as a percentage.

‘ Eddy borrowed 25% of books from his brother’s
bookshelf which had a total of 120 books. Hg
many books did Eddy borrow?

Volume and Surface Are

How many litres of water &g nto a tank that is

2m long, 1.5m wide and 1m deep?
% Tm?® = 1000 litres
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Mean, Range, Median and Mode

Tim compared the daily temperature g#Barcelona with
in London for 7 days. Find out mean, range
temperature of each city g answer the guést

1e daily temperature
d mdge

[2
=<

is the mean temperature o elona?

What is thg#fiiedian of the temperature in Barcelona?

What is the mode temperature in Barcelona?

' What is the mean temperature of London?

' What is the difference between the mean temperatures
of Barcelona and London?

‘ What is the difference between the range of
temperature of Barcelona and London?
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Show we your working out,

1
’ Helen spent =~ of her pocket money. If she had
£90 at the start, what percentage of her pocket
money does she now have left? How much is it?

1
Convert —, lo percentage.

‘ Daniel’s family goes out for a meal at their
favourite restaurant once a week. Every time they
go, the bill comes up to £80. The restaurant gives
back 5% of the total bill back in vouchers. Hg
much would Daniel’s family get back in
after 12 weeks?

How much doe
their favg

Paniel's family spend at

How many cards alg there altogg
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. At a sale, the classic quitar was sold for £640. Thi
price was 25% of the original price. What w,
original price?

Convert 25% to fractj

25% of t ginal price is £6

5% of the original pric

‘ A cube measures 12cm in length has a cuboid hole
that goes through from end to end of the cube. If
the length of the empty surface of the cuboid hole
is 2cm by 4cm, what is the volume of the cube that
has a cuboid hole in the middle?

What is the volume of the cube?

What is the volume of the cuboid hole?
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. A return flight from London to Seoul costs £650 for
an adult. A child ticket cost 70% of an adult ticket.
How much would the total be for one adult and 2
children?

A pair of socks costs £1.50. If you buy more than
10, you get a 5% discount on the price. How much
would it cost to buy 30 pairs of socks?

‘ A cardboaly
designed to Yold 3
the height if €
and 5cm wider
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Maths PLUS 24

rent plants and plant

Unit = mm

D10 | TOTAL

52 | 54|35 | 42|59

Plant B 48 | 49 | 4.1 | 54 | 53| 4.4

72 | 65| 53|55 |61 ]|46)|69)| 42|75

What is the modal growth of Plant A?
What is the mean growth of Plant B?
What is the median growth of Plant C?
What is the range of growth of Plant A?

Which plant has the highest mean growth?

Which plant has the highest range of growth?
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Review

. 6 local schools participate in the county hockey league. The scores of
each school are shown below. Find out the mean score of each school
then circle the school that has the highest score.

Sutton Grammar School Holy Cross School
51617181910 4 7151786 |5|4

Hollyfield School Southborough School
6171687105 918 (13412, 5|5

Greenshaw School Surbiton High School

47|11 210 4|7

total number of the two dice.
and the average (mean) g
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Maths PLUS 24

. If the mean number for each set is given, wdt is the myissing number in
each of these sets?

mean = 9

mean 1.75

Ulﬁj ﬂé} O

mean = 4.25
UE00

‘ Find the median (middle number) in each question.

57,9, 13 12,12, 22, 32

57,79 11, 11 56,6 6 88 9,9

55 6,7,9 10, 11, 12, 13, 14 6,9, 11, 15, 16, 16, 17, 20
10, 11, 11, 12, 13, 13, 14, 15 18, 18, 22, 28, 28, 29

© OxBridge Material page.no 9



Cooldown

e e e e e e e e e e o o e — =

RN
)

Write each of these as a decimal into a fraction and give your answer in simplest
form.

01 = — Q85 = |- 0.12 = — 0.62

0.94 =

0.16 =

0.36 =
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Maths PLUS 24

Calculate these divisions by using the long divisig®. (Some ojjythem have
reminders)
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Homework

s

Convert improper fractions into mixed fractions.

17 _ _ 46 _ — 13 _ _
7 7 i 5 6 6
22 _ _A 35 _ _ 38 _ _
4 - 4 8 8 9 9

Convert minutes into hours and not

278 mi

573 mins =
75 mins = 86 mins =
569 mins = 214 mins =
81 mins = 453 mins =
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